
400800
120X80X72CM

MODELL: Drivbenk Premium frittstående eller for pallekarm
PRODUKT STØRRELSE:(LxWxH):120X80X72CM
Les bruksanvisning før montering



DEL NR. ANT

2L01A

2L01B

4L02

2L03B

4L0809

8L10

4L11

2

2

L03A

4

L04

Y1

Y2

2L05B

2L05A

4

1

1

L06

L07

DEL NR. ANT

4Y3

16S41

62M01

4L12

M6X6

M6

46S42
M6X10

2Ø4X16D
Z02

1H86

12Ø4.2X16
Z08

40

40M16
M4

H198 8

D489 4

S93
M4X10



DEL NR. ANT

1L0809

2L10

Takluke X 4

1L11

4S41

4M01

1Y3

L0809L10
S41

M01

L11

L10

Y3

L12

1L12

L10

S41

L11

M6X6

M6

①

8

8M16
M4

H198 2

H198

M16

 
.1.

S93

S93
M4X10



DEL NR. ANT

2L01A

2L01B

4L02

12S42

12M01

2L03B

M6X10

M6

L01BL02

L02

L02

L01A

L01B

L01A

M01 S42
L02

S42
L01BL01A

L02

L03B

L03B

S42

M01
L03B
S42
L01B

②

③

 
.2.



Y1

Y1

Y1
Y1

DEL NR. ANT

2

2

L03A

4

L04

12S42

12M01

Y1

M6X10

M6

L03A

L03AL04

L04

S42

M01

S42

M01

L03A
S42
L01A

L04
S42
L02

④

⑤

 
.3.



Y2

Y2

Y2

Y2

Y2

DEL NR. ANT

2L05B

2L05A

4

12S42

12M01
M6X10

M6

L05A

L05B

L05B

L05A

S42

M01

L05B L05A

S42

L05A

S42 L04

⑥

⑦

8

8M16
M4

D489 4

D489

M16
 
.4.

S93
M4X10

S93



VinduVindu

DEL NR. ANT

1

1

L06

L07

10S42

10M01
M6X10

M6

2Z02
Ø4X16D

L06

L07

S42

M01

Z02

M01S42

L06

S42
M01

⑧

⑨

 
.5.

Vindu

Vindu

Vindu

Vindu



 
.6.


	01
	02
	03
	04
	05
	06
	07
	08

